K1401Y11, 1401¥ 12, K1401Y2,A,B

CuyeTBepeHHbHe onepalHOHHHE YCHJAHTeNAH. KOHCTPpYyKTHBHO
opopmaenn: 1401¥/12 B kopmyce 201.14-10; 1401¥YIAl wu
K1401Y12A,B B kopnyce 201.14-8. Ha3nauyenune BuBOAOB: I, 7,
8, 14 — Buxonn; 3, 5, 10, 12 — HeHHBepTHpPYIOLIHE BXOJIH;
2, 6, 9, 1 — nuBepTHpyoUHe BXxoAn; 4 — mutaHue (— Uya);
/1  nutanne (4 U..).
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IMapamerpu
1401¥ 12 KI1401YOl | KI1401YO2A | K1401Y26
Uun, B + 3 B.. 15+10% =+15B+ — -
...+30 B) +10%
+1,5 B...
..+16,5 B)
Uc, MB +5 — +5 +75 2
Usx.max, B <12 < 12,5 +12 <3 2
lsx, HA < 150 < 150? < 150 < 150 2
Ior, MA <0,7..3 <85 <0,73 <2 2
Al.x, HA <30 (100) < 30 <60 2
(Rex, kKOm)
Ky.u =50 000 >20002 >50000 >=>25000 2
Koc chs 115 270 ~— 270 270 —
- T8 <30 — <30 < 30 2
MkB/°C — == 5
f, Ml — 2,5 — e 5
V.., B/Mke — >0,5 == = 5

' TIpu mUTaHHH OT OAHOMOMSIPHOTO HCTOUHHKA.
2 Tlpu Ry=>5 kOm.



